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201849 4/427| 2|3 2Y YRFXH|(R2AE) T LA
AHS LR == olel/+g | 3u(d) | Zugd
2018.10.04 M2352 Lol HAIZ] 7HE[Of THE =4 15 197,000 7t
2018.10.19 YTz oA Zotnsg KU 7HE 2| F4 5 166,000 7tE
2018.11.02 Y QA e A g4 20 396,000 7t
2018.11.28 2018 HHARZAA oEes o4 =4 16 278,000 7tE
2018.12.13 MN2373 ¥Lols| = M2A 239 iAo 2 FA 9 112,500 7t
2018.12.24 AL AZMIEY AHE 71 12 360,000 7tE
2018.12.24 AL ASYIAY PEFT Ay g4 10 119,000 7t=
20189 4/4=2D| IE2YH 353H &3 HA

A LT 2 3 5 = ol/x2 | 3u(A) | ZWLH
2018.10.19 (Y=ol HEIIEHE +¢ 370 9,768,000 7t
2018.10.19 (¥ ol3| o|AHY Zetu Ko HE Chif +¢ 1 110,920 7t
2018.11.16  |2018 LA T2l2| o|FET tEH3| MR 54 35 618,000 7t=
2018.11.19  |M2372| FH=2l2| Fal2l /iof wE Char ¢ 1 561,170 7tE
2018.11.30  |M[237% Y=ol Hellzl 74%[0f whE Cha 1 320,300 7tE
2018.12.14  [2019¥ = ASIEH 1 1,200,000 7t=
20181226 |M[2373| Y=o|z| Fallz JHEof ME TAHLLL 7HHD| F4 31 628,000 7tE




20183 4/4=D| 2|3 AR=AH|(0Z LH S
A = &) ZHEE
2018.11.30 LAl ez oL SR HM2Xe 32 273,000 7tE
2018.11.30 Aoz Yz oMELAEHL A M2A A2 A 290,000 7tE
2018.12.03 YAl Fellg oA MEERAUD] M3 =4 429,600 7tE
2018.12.04 ALTO2| Yz OMELAEHR R MK A2 A 147,000 7tE
2018.12.06 YAl Fellg| oLtAMEERAUD] Mot e =4 214,000 7tE
2018.12.10 YAl Falz| oA MEELRD] Mk A =4 296,000 7tE
2018.12.12 AT Halle| off At o =g g4 131,000 7tE




